1.2.6 | C

l)( x x2 x2—2x+4] 8 _x2+x+6

(x+2)°-8x  4x+8

\x—2ﬁx3+8 x—2

' 5
2 - 25~4a”* 1-15a"-a”*
5a” +2a  a1+0,5a7°



x?+x—56 h3x2 —-x—14 B 6+7x—5x°

3)
0,5x+4 x+2 5x+3

x*+x-20 2x*-5x+3 4-8x—5x’

4
) x—4 2x-3 x+2




3 x(x+1)(x+2)(x+3)




7) Erep .x=J§2 I 6onca, (1 x)(x+22 ) €CETTEeH13.

x (x+l)

8)

6x+7 2x+8( x+4 _ 2x+3 J
2x+3 3x+7 \2x%+x-3 x2+3x—4



Jad —6a* +9a? +\/4a4 ~4a® +a?
Ja2+4a+4

eCenTeHis.

9) Erep %<a<3,'

' -1
10) 14 6ac N 1 _ 1 B 1
8¢’ ~a® 2c-a)\a®-8c® a?+2ac+4c?



11) x2—2x+4-2x2.+x_ x+2 ’ 4(x+l) _'1_6—»6.\:
4x* -1 x’+8 2x?-x){x*+2x 3—6x

. 2 :
x* —(x-1)° +xz —(12 *1) +:4.'2(.1:—1)2-—1

12)
(Jur:2 +1)2 ~x2 x2(x+1)*-1 x* —(x+1)*




X .Y

13) f__2+y2 - xy* - 4 x
? xy+y? x3—2x2y+xy2

y x?

J a’-2ab+b*> 24 .
14) Erep 0<a <b 6omnca, + €CEenTEeHi3.

Jaz +2ab+b% a+b




1 1 1 | 1

D o) G2 ) eed) 3 ed)

x*=3x%+1 x?4x-1

16 .
) =27 T x%*+3x+9




| 3  a+l  a-1. ) 3q¢*+7a-28
17)( T T P
at2 a*-9 a"+5a+6), a" +5a+6

L
-2

-+

9 18 9 (x 3]2
18 e f =—-=
){(mr B (x—s)l] 3



19) ©pHekTiH eH Killli MOHIH Ta0bIHbI3:
(x—l)(x—Z)(x—S)(x—4)+IO :

20) OpHEKTIH eH YJIKEH MOHIH TaObIHBI3!

(x—1)(x—3)(x—4)(x—6)+10



KAYAINTAPHI

2) 1024

6) 0,2
10) 2c—a-1

14) 1

18) 4

3) -9

76
11) -1

15)

xZ +4x

19) 9

4) 5x+4

8)3

12) 1

16) x°—x—-1
x—3

20) 1



